<?xml version="1.0" encoding="utf-8"?>
<{ArrayOfProject xmlns:xsd="http://www. w3. org/2001/XMLSchema”
xmlns:xsi="http://www. w3. org/2001/XMLSchema—instance”>
<{Project>
A— WHEGE HHEmS —
<{ProjectInfo Projectld="zsa”>
— TiH%/ —>
<{ProjectName />
A— THEM —>
{ProjectType />
1= TiHHHE —>
<ProjectAddress />
A— FRER —
<ExtendInfo />
<{/ProjectInfo>
A— CMERE s —
<{DocumentInfo DocumentId="058e61d1-9699-40f1-ae9a-898a4622d175">
A— FRAT —>
MajorVersion>1</MajorVersion>
A= AT —>
<MinorVersion>0</MinorVersion>
== SO e B et fa) —>
{Modification>2024-7-30 18:06:20</Modification>
A— WHZREER —
<{Comment>empty</Comment>
== CRPATIRE —>
{Status />
Ad— FRER —
<ExtendInfo />
</DocumentInfo>
A— JWIHMEE Withs —>
<Designinfo Designld="zsa-">
= Bt fEsgif ) —>
<DesignDate>2024-7-30 18:06:20</DesignDate>
A— BitASEE —
<DesignRevision />
Ad— Wit ANRERE —
<DesignAuthor>dd1</DesignAuthor>
<ExtendInfo />

<{/Designinfo>
<!__ *%F?{%A%\ __>
{ApplicationInfo>

Q- BEAH
<ApplicationName>Tekla</ApplicationName>
A= BFFARR —

{ApplicationGUID />

A— BFRAEE —



<{ApplicationVersion>2017 Service Pack 4</ApplicationVersion>
<ExtendInfo />
<{/ApplicationInfo>
A— #HER —
<{BuildingInfo>
== @R —>
{Site />
== BHAME >
<Building />
A— HERFE —
{Storey />
A= XEEE —
{SubStorey />
= FFARPR —>
{Coordinate />
<ExtendInfo />
</ApplicationInfo>
= T8 AT RS —>
<{OrderInfo OrderId="1">
== ATHHRI ) ——>
<OrderPlanDate>2024-7-30 18:06:20</0OrderPlanDate>
= SERSTE] —>
<ActualDate>2024-7-30 18:06:20</ActualDate>
{Comment />
Ad— PRER RS —
<{ProductInfo ProductID="zsa-B&W ">
A= PR —>
{ProductType>Slab</ProductType>
A— HFAEE —
<Comment />
A= F[AMIR R —>
{SpaceSystem>
<{Point PointId="1">
<X>30000</%X>
<Y>1855</Y>
<I>60</7>
<{/Point>
<{Point PointId="2">
<X>30001</%X>
<Y>-1855</Y>
<I>-60</7>
<{/Point>
<Point PointId="3">
<X>30000</%X>
<Y>-1854</Y>
<I>-60</7>
</Point>



</SpaceSystem>

= WHRHE S Wik —

{Part Partld="zsa—Z&MWH">
== FfEgmag —>
{PartType>30-01. 10. 30. 10</PartType>
= FfEFh —>
{PartVariety>15</PartVariety>
A= MK —>
{PartLength>3200</PartLength>
= R —>
{PartWidth>2435</PartWidth>
A= MfERERE >
<{PartHeight />
== JREELREESER >
{ConcreteStrength>C30</ConcreteStrength>
= RMETZ243H —>
{SurfaceTreatment />

A— i —>
<{LeftBarOut>-90</LeftBarOut>

A=— HMH —>
<{RightBarOut>-90</RightBarOut>
d— P —
<{BottomBarOut>-290</BottomBarOut>
Ad— EWHF —

{TopBarOut>-290</TopBarOut>
= MfFEE —>
{Weight>840</Weight>
— AR —>
<Volume>0. 336</Volume>
= REEE B —
<Edges Edgesld="0dd90a8a-34a7-461f-b627-0c510658b933”>
A= mEEE —
<{Height>60</Height>
A= REFE —
<{Length>3020</Length>
A= WEEE —

<Width>1855</Width>
= AR —>
<{QuterLines>

A== MRS —>
{OuterLine Lineld="1">
A== EALAAbR R —>

<{Points>

<{Point>
0K/ X>
<Y>0</Y>
<Z>60</7>



<{/Point>
<Point>
<X>3020</X>
<Y>0</Y>
<I>60</7>
<{/Point>
<Point>
<X>3020</X>
<Y>1855</Y>
<72>60</2>
<{/Point>
<{Point>
<XO0</X>
<Y>1855</Y>
<Z2>60</Z7>
{/Point>
</Points>
</OuterLine>
<{/OuterLines>
A= fLIEcE —>
<{HoleCount>0</HoleCount>
Ad— fLFAEE —
{Holes />
== Iy >
<{Direction>
<0/ X0
<Y>1K/Y>
<I>0L/ 7>
{/Direction>
A— PRER —
<{ExtendInfo />
<{/Edges>
{MountParts>
A WIELE Hms —
{MountPart MountPartId="1">
<1 S —>
{InstallationOrder>0</InstallationOrder>
= RAhS —>
MountPartType />
A— ZEE —
<Name>XH1</Name>
A— FREE —
{Instruction>XH</Instruction>
Ad— KERFR —
<Length>86</Length>
A— FEEE —
<Width>86</Width>



Ad— @mEFER —
<{Height>100</Height>
== TiERHLERL R —>
{TopCenterPoint>
<X>1745</X>
<Y>1155</Y>
<I>0/7>
</TopCenterPoint>
Ad— MBEE —
{Texture>PVC<{/Texture>
<ExtendInfo />
<{/MountPart>
{/MountParts>
{Steel>
<{Bar>
= HARANG WS ——>
{Bar Barld="1">
== ZERIY ——>
{InstallationOrder>0</InstallationOrder>
A= KRG —>
<{ReinforcementType>30-03. 10. 10. 20</ReinforcementType>
A= fRfEE A —>
{Instruction>YR</Instruction>
A— WS —>
<Grade>HRB400</Grade>
== WK —>
{Shape />
A— B# —>
<{PieceCount>1</PieceCount>
A— WHERE —
<Diameter>8</Diameter>
= W —>
<Hook>
A= IR S wME —
{StartHookAngle>0</StartHookAngle>
- BRI S HPE —
{StartHookRadius>0</StartHookRadius>
A= BiRm S K —>
{StartHookLength>0</StartHookLength>
A— b MmE —>
<{EndHookAngle>0</EndHookAngle>
A— Zbm B —>
<EndHookRadius>0</EndHookRadius>
A== KL B KA —>
<{EndHookLength>0</EndHookLength>
</Hook>
A= bgREf —>



{CenterLine>
<Point>
<X>2995</X>
<Y>15</Y>
<I>1K/T>
<{/Point>
<Point>
<X>2995</X>
<Y>1840</Y>
<I>19K/7>
<{/Point>
{/CenterLine>
A== KE —>
<{Length>1820</Length>
— HE —
Weight>0. 719</Weight>
A— FRER —
<ExtendInfo />
</Bar>
{/Bar>
== WM WA s ——>
Mesh MeshId="1">
= 2Ry —>
<InstallationOrder>0</InstallationOrder>
== KBS —>
{MeshType>30-03. 10. 10. 50</MeshType>
A== W BRRKE -
MeshMaxLength>3200</MeshMaxLength>
A— M EKTERE —>
<MeshMaxWidth>2435</MeshMaxWidth>
A= KibJ7m 0K 1-Kal B pm—>
<{LongDirection>0</LongDirection>
A— BEm#E —>
<{XBarsCount>9</XBarsCount>
A— YHtE —
<YBarsCount>20</YBarsCount>
A= #EEFTA 0-1EEE -9l —
{MeshBarConnectType>0</MeshBarConnectType>
A= fLIR%E —>
<HoleCount>0</HoleCount>
A= fLRAEER —>

<Holes />
A— MAEAER —
{MeshLocation>
A= Wl SEN —>
{CenterPoint>

<X>1510</X>



<Y>928</Y>
I>2TK/T>
</CenterPoint>
A== KN REN —>
<{LeftDownPoint>
<X>=90</X>
<Y>-290</Y>
I>2TL/)T>
</LeftDownPoint>
A— A TMHREEN —>
<{RightDownPoint>
<X>3110</%>
<Y>=-290</Y>
I>2TL/T>
</RightDownPoint>
A— A EMEREM —>
<{RightUpPoint>
<X>3110</%>
<Y>2145</Y>
I>21K/7>
<{/RightUpPoint>
A— Ffe B REN —>
{LeftUpPoint>
<X>=-90</X>
<Y>2145</Y>
I>2TL/T>
</LeftUpPoint>
</MeshLocation>
<{MeshBar>
{Bar BarId="1">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>XR</ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>1</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0</StartHookRadius>
{StartHookLength>0<{/StartHookLength>
<{EndHookAngle>0</EndHookAngle>
<{EndHookRadius>0</EndHookRadius>
<{EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<Point>
<X>3110</X>



<Y>25</Y>
<I>27K/7>
<{/Point>
<{Point>
<X>=-90</X>
<Y>25</Y>
<I>27K/7>
<{/Point>
{/CenterLine>
<Length>3200</Length>
{Weight>1. 264</Weight>
{ExtendInfo />
</Bar>
{Bar BarId="2">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>XR</ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>1</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0</StartHookRadius>
{StartHookLength>0</StartHookLength>
<EndHookAngle>0</EndHookAngle>
<{EndHookRadius>0</EndHookRadius>
<{EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>3110</X>
<Y>325</Y>
I>2TK/T>
{/Point>
<{Point>
<X>=-90</X>
<Y>325</Y>
I2TK/T>
{/Point>
{/CenterLine>
<Length>3200</Length>
{Weight>1. 264</Weight>
<{ExtendInfo />
</Bar>
{Bar Barld="3">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>XR</ReinforcementType>



{Grade>HRB400</Grade>
{Shape />
{PieceCount>1</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0<{/StartHookRadius>
{StartHookLength>0</StartHookLength>
<{EndHookAngle>0</EndHookAngle>
<{EndHookRadius>0</EndHookRadius>
<EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<Point>
<X>3110</X>
Y>475</Y>
I2TK/7>
{/Point>
<Point>
<X>=-90</X>
Y>475</Y>
I>2TK/7>
{/Point>
{/CenterLine>
<Length>3200</Length>
{Weight>1. 264</Weight>
<{ExtendInfo />
</Bar>
{Bar BarId="4">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>XR</ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>1</PieceCount>
{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0</StartHookRadius>
{StartHookLength>0</StartHookLength>
<EndHookAngle>0</EndHookAngle>
<{EndHookRadius>0</EndHookRadius>
<{EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>3110</X>
Y>T75</Y>



I>2TL/T>
<{/Point>
<Point>
<X>-90</X>
Y>T75</Y>
L>2TK/T>
<{/Point>
{/CenterLine>
<{Length>3200</Length>
{Weight>1.264</Weight>
<{ExtendInfo />
</Bar>
{Bar Barld="5">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>XR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>1</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0</StartHookRadius>
{StartHookLength>0</StartHookLength>
<EndHookAngle>0</EndHookAngle>
<{EndHookRadius>0</EndHookRadius>
<EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>3110</X>
<Y>925</Y>
I>21K/7>
{/Point>
<{Point>
<X>=-90</X>
<Y>925</Y>
<L>2TK/T>
{/Point>
{/CenterLine>
<Length>3200</Length>
{Weight>1.264</Weight>
<{ExtendInfo />
</Bar>
{Bar Barld="6">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>XR</ReinforcementType>
{Grade>HRB400</Grade>
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{Shape />
{PieceCount>1</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0<{/StartHookRadius>
{StartHookLength>0</StartHookLength>
<{EndHookAngle>0</EndHookAngle>
<{EndHookRadius>0</EndHookRadius>
<EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>3110</X>
<Y>1075</Y>
I2TK/7>
{/Point>
<Point>
<X>-90</X>
<Y>1075</Y>
I2TK/7>
{/Point>
{/CenterLine>
<Length>3200</Length>
{Weight>1. 264</Weight>
<{ExtendInfo />
</Bar>
{Bar BarlId="7">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>XR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>1</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0</StartHookRadius>
{StartHookLength>0<{/StartHookLength>
<EndHookAngle>0</EndHookAngle>
<EndHookRadius>0</EndHookRadius>
<{EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>3110</%>
<Y>1375</Y>
<I>2TK/7>
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<{/Point>
<Point>
<X>-90</X>
<Y>1375</Y>
<L>2TK/T>
<{/Point>
{/CenterLine>
<{Length>3200</Length>
{Weight>1. 264</Weight>
<{ExtendInfo />
</Bar>
{Bar Barld="8">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>XR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>1</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0</StartHookRadius>
{StartHookLength>0</StartHookLength>
<EndHookAngle>0</EndHookAngle>
<EndHookRadius>0</EndHookRadius>
<{EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>3110</X>
<Y>1525</Y>
I2TK/7>
{/Point>
<{Point>
<X>-90</X>
<Y>1525</Y>
I2TK/7>
{/Point>
{/CenterLine>
<Length>3200</Length>
{Weight>1. 264</Weight>
{ExtendInfo />
</Bar>
{Bar BarId="9">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>XR</ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
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{PieceCount>1</PieceCount>
<{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>0</StartHookAngle>
{StartHookRadius>0</StartHookRadius>
{StartHookLength>0</StartHookLength>
<EndHookAngle>0</EndHookAngle>
<{EndHookRadius>0</EndHookRadius>
<{EndHookLength>0</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>3110</X>
<Y>1825</Y>
<L>27/T>
{/Point>
<{Point>
<XO-90</X>
<Y>1825</Y>
I>2TL/T>
{/Point>
{/CenterLine>
<Length>3200</Length>
{Weight>1.264</Weight>
<{ExtendInfo />
</Bar>
<Bar BarId="10">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<Point>
<X>2900</X>
<Y>-252</Y>
<I>81L/T>
<{/Point>
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<{Point>
<X>2900</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<Point>
<X>2900</X>
<Y>-286</Y>
<I>19</7>
<{/Point>
<Point>
<X>2900</X>
<Y>2141</Y>
<L>19</7>
<{/Point>
<{Point>
<X>2900</X>
<Y>2141</Y>
<LAT/T>
{/Point>
<{Point>
<X>2900</X>
<Y>2107</Y>
<I>81L/7>
<{/Point>
{/CenterLine>
<{Length>2560</Length>
{Weight>1.011</Weight>
{ExtendInfo />
</Bar>
<Bar BarId="11">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<Point>
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<X>2750</%>
<Y>-252</Y>
<L>81K/7>
<{/Point>
<{Point>
<X>2750</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<Point>
<X>2750</X>
<Y>-286</Y>
<I>19K/7>
<{/Point>
<Point>
<X>2750</X>
Y>2141</Y>
<L>19</7>
<{/Point>
<{Point>
<X>2750</X>
<Y>2141</Y>
I>4TL/T>
{/Point>
<Point>
<X>2750</X>
<Y>2107</Y>
<Z>81K/7>
{/Point>
{/CenterLine>
<{Length>2560</Length>
{Weight>1.011</Weight>
{ExtendInfo />
</Bar>
<Bar BarId="12">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<EndHookRadius>16</EndHookRadius>
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<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>2600</X>
Y>-252</Y>
<I>81L/7>
<{/Point>
<{Point>
<X>2600</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<Point>
<X>2600</X>
<Y>-286</Y>
<I>19</7>
{/Point>
<Point>
<X>2600</X>
Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>2600</X>
Y>2141</Y>
I>ATL/T>
{/Point>
<{Point>
<X>2600</X>
<Y>2107</Y>
<Z>81L/7>
{/Point>
{/CenterLine>
<{Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
<Bar BarId="13">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>135</StartHookAngle>
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{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>2450</X>
<Y>-252</Y>
<I>81L/7>
<{/Point>
<{Point>
<X>2450</X>
<Y>-286</Y>
I>ATL/T>
{/Point>
<Point>
<X>2450</X>
<Y>-286</Y>
<I>19</7>
{/Point>
<{Point>
<X>2450</X>
Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>2450</X>
Y>2141</Y>
I>ATL/T>
{/Point>
<{Point>
<X>2450</X>
<Y>2107</Y>
<Z>81K/7>
{/Point>
{/CenterLine>
<{Length>2560</Length>
Weight>1.011</Weight>
{ExtendInfo />
</Bar>
<Bar BarId="14">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
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{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>2300</%>
<Y>-252</Y>
<L>81K/Z7>
{/Point>
<{Point>
<X>2300</X>
<Y>-286</Y>
I>4TL/T>
{/Point>
<Point>
<X>2300</X>
<Y>-286</Y>
<L>19</7>
<{/Point>
<{Point>
<X>2300</X>
<Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>2300</X>
<Y>2141</Y>
I>ATL/T>
{/Point>
<{Point>
<X>2300</X>
<Y>2107</Y>
<I>81L/T>
<{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
{ExtendInfo />
</Bar>
<Bar BarId="15">
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{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>2150</%>
<Y>-252</Y>
<L>81K/Z7>
{/Point>
<{Point>
<X>2150</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<Point>
<X>2150</%>
<Y>-286</Y>
<I>19</7>
<{/Point>
<{Point>
<X>2150</%>
<Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>2150</%>
<Y>2141</Y>
I>ATL/T>
<{/Point>
<Point>
<X>2150</%>
Y>2107</Y>
<I>81L/7>
<{/Point>
{/CenterLine>
<Length>2560</Length>
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{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
{Bar BarId="16">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>2000</X>
<Y>-252</Y>
<I>81K/T>
{/Point>
<Point>
<X>2000</X>
<Y>-286</Y>
I>ATL/T>
{/Point>
<{Point>
<X>2000</X>
<Y>-286</Y>
<I>19</7>
{/Point>
<{Point>
<X>2000</X>
<Y>2141</Y>
<I>19</7>
{/Point>
<Point>
<X>2000</X>
<Y>2141</Y>
<DATL/T>
<{/Point>
<Point>
<X>2000</X>
<Y>2107</Y>

20



<I>81L/7>
<{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
<Bar Barld="17">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>1850</X>
<Y>-252</Y>
<Z>81L/7>
{/Point>
<{Point>
<X>1850</X>
<Y>-286</Y>
I>ATL/T>
{/Point>
<{Point>
<X>1850</X>
<Y>-286</Y>
<I>19</7>
{/Point>
<{Point>
<X>1850</X>
<Y>2141</Y>
<I>19</7>
<{/Point>
<Point>
<X>1850</X>
Y>2141</Y>
<DATL/T>
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<{/Point>
<Point>
<X>1850</X>
<Y>2107</Y>
<I>81L/7>
<{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
{Bar BarId="18">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>1700</X>
<Y>-252</Y>
<Z>81K/7>
{/Point>
<{Point>
<X>1700</X>
<Y>-286</Y>
I>ATL/T>
{/Point>
<{Point>
<X>1700</%>
<Y>-286</Y>
<I>19</7>
<{/Point>
<Point>
<X>1700</%>
<Y>2141</Y>
<I>19</7>
<{/Point>
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<{Point>
<X>1700</X>
<Y>2141</Y>
I>4TL/T>
<{/Point>
<Point>
<X>1700</X>
<Y>2107</Y>
<I>81L/7>
<{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
<Bar BarId="19">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>1550</%>
<Y>-252</Y>
<Z>81L/7>
{/Point>
<{Point>
<X>1550</%>
<Y>-286</Y>
<DATL/T>
<{/Point>
<Point>
<X>1550</X>
<Y>-286</Y>
<I>19K/7>
<{/Point>
<Point>
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<X>1550</X>
Y>2141</Y>
<L>19</2>
<{/Point>
<{Point>
<X>1550</X>
Y>2141</Y>
I>4TL/T>
<{/Point>
<Point>
<X>1550</X>
<Y>2107</Y>
<I>81L/T>
<{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
<Bar BarId="20">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>1400</X>
<Y>-252</Y>
<Z>81K/7>
<{/Point>
<Point>
<X>1400</%>
<Y>-286</Y>
I4TL/T>
<{/Point>
<Point>
<X>1400</X>
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<Y>-286</Y>
<L>19</2>
<{/Point>
<{Point>
<X>1400</%>
Y>2141</Y>
<L>19</7>
<{/Point>
<{Point>
<X>1400</X>
Y>2141</Y>
I>4TL/T>
<{/Point>
<Point>
<X>1400</X>
<Y>2107</Y>
<I>81K/T>
{/Point>
{/CenterLine>
<{Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
<Bar BarId="21">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>YR<{/ReinforcementType>
<{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<Point>
<X>1250</%>
<Y>-252</Y>
<I>81L/T>
<{/Point>
<Point>
<X>1250</X>
<Y>-286</Y>
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I>4TL/T>
<{/Point>
<Point>
<X>1250</X>
<Y>-286</Y>
<I>19</7>
<{/Point>
<{Point>
<X>1250</X>
Y>2141</Y>
<I>19</7>
<{/Point>
<{Point>
<X>1250</%>
Y>2141</Y>
I>ATL/T>
{/Point>
<Point>
<X>1250</%>
<Y>2107</Y>
<I>81L/7>
{/Point>
{/CenterLine>
<{Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
<Bar BarId="22">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<EndHookRadius>16</EndHookRadius>
<EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>1100</X>
Y>-252</Y>
<I>81K/7>
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<{/Point>
<Point>
<X>1100</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<Point>
<X>1100</%>
<Y>-286</Y>
<L>19</2>
<{/Point>
<{Point>
<X>1100</%>
<Y>2141</Y>
<L>19</7>
{/Point>
<{Point>
<X>1100</X>
<Y>2141</Y>
I>4TL/T>
{/Point>
<Point>
<X>1100</%>
<Y>2107</Y>
<L>81K/Z7>
<{/Point>
{/CenterLine>
<{Length>2560</Length>
{Weight>1.011</Weight>
{ExtendInfo />
</Bar>
<Bar BarId="23">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
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<{Point>
<X>950</X>
Y>-252</Y>
<I>81L/T>
<{/Point>
<Point>
<X>950</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<Point>
<X>950</X>
<Y>-286</Y>
<I>19</7>
<{/Point>
<{Point>
<X>950</X>
Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>950</X>
Y>2141</Y>
I>ATL/T>
<{/Point>
<Point>
<X>950</X>
<Y>2107</Y>
<I>81L/7>
{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
{ExtendInfo />
</Bar>
<Bar BarId="24">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<{Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
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<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>800</X>
<Y>-252</Y>
<I>81L/T>
<{/Point>
<Point>
<X>800</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<Point>
<X>800</X>
<Y>-286</Y>
<L>19</7>
<{/Point>
<{Point>
<X>800</X>
<Y>2141</Y>
<I>19</7>
{/Point>
<Point>
<X>800</X>
Y>2141</Y>
I>ATL/T>
{/Point>
<{Point>
<X>800</X>
<Y>2107</Y>
<I>81K/7>
{/Point>
{/CenterLine>
<{Length>2560</Length>
{Weight>1.011</Weight>
{ExtendInfo />
</Bar>
<Bar BarId="25">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
{Diameter>8</Diameter>
<{Hook>
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{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>650</X>
Y>-252</Y>
I>81L/7>
<{/Point>
<Point>
<X>650</X>
<Y>-286</Y>
I>ATL/T>
{/Point>
<Point>
<X>650</X>
<Y>-286</Y>
<I>19</7>
{/Point>
<{Point>
<X>650</X>
Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>650</X>
Y>2141</Y>
I>ATL/T>
{/Point>
<{Point>
<X>650</X>
<Y>2107</Y>
<I>81L/7>
{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
{Bar BarId="26">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR{/ReinforcementType>
{Grade>HRB400</Grade>
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{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>500</X>
<Y>-252</Y>
<I>81K/T>
{/Point>
<Point>
<X>500</X>
<Y>-286</Y>
I>4TL/T>
{/Point>
<{Point>
<X>500</X>
<Y>-286</Y>
<L>19</7>
{/Point>
<{Point>
<X>500</X>
<Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>500</X>
Y>2141</Y>
I>ATL/T>
{/Point>
<{Point>
<X>500</X>
Y>2107</Y>
<I>81L/7>
<{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
<ExtendInfo />
</Bar>
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{Bar Barld="27">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>

{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<{EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>350</X>
<Y>-252</Y>
<I>81L/7>
{/Point>
<Point>
<X>350</X>
<Y>-286</Y>
I>4TL/T>
<{/Point>
<{Point>
<X>350</X>
<Y>-286</Y>
<I>19</7>
{/Point>
<{Point>
<X>350</X>
Y>2141</Y>
<I>19</7>
{/Point>
<{Point>
<X>350</X>
Y>2141</Y>
I>ATL/T>
{/Point>
<{Point>
<X>350</X>
<Y>2107</Y>
<I>81L/7>
<{/Point>
{/CenterLine>
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<Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
{Bar BarId="28">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR<{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<{Point>
<X>200</X>
Y>-252</Y>
<I>81L/7>
<{/Point>
<Point>
<X>200</X>
<Y>-286</Y>
I4TL/T>
{/Point>
<{Point>
<X>200</X>
<Y>-286</Y>
<I>19K/7>
{/Point>
<{Point>
<X>200</X>
Y>2141</Y>
<I>19</7>
<{/Point>
<{Point>
<X>200</X>
Y>2141</Y>
I4TL/T>
{/Point>
<Point>
<X>200</%X>
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Y>2107</Y>
<L>81K/7>
<{/Point>
{/CenterLine>
{Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
{Bar BarId="29">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType>YR{/ReinforcementType>
{Grade>HRB400</Grade>
{Shape />
{PieceCount>5</PieceCount>
<{Diameter>8</Diameter>
<Hook>
{StartHookAngle>135</StartHookAngle>
{StartHookRadius>16</StartHookRadius>
{StartHookLength>87</StartHookLength>
<EndHookAngle>135</EndHookAngle>
<{EndHookRadius>16</EndHookRadius>
<{EndHookLength>87</EndHookLength>
</Hook>
{CenterLine>
<Point>
<X>H0</X>
<Y>-252</Y>
<Z>81K/7>
{/Point>
<{Point>
<X>50</X>
<Y>-286</Y>
AT T>
{/Point>
<{Point>
<X>50</X>
<Y>-286</Y>
<I>19</7>
{/Point>
<Point>
<X>50</X>
<Y>2141</Y>
<I>19</2>
<{/Point>
<Point>
<XO50</X>
Y>2141</Y>
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AT T
<{/Point>
<Point>
<X>50</X>
<Y>2107</Y>
<L>81K/Z7>
<{/Point>
{/CenterLine>
<Length>2560</Length>
{Weight>1.011</Weight>
<{ExtendInfo />
</Bar>
</MeshBar>
<ExtendInfo />
<{/Mesh>
<{HangStiffener>
{HangStiffener HangStiffenerld="1">
{InstallationOrder>0</InstallationOrder>
<{ReinforcementType> A A& % </ReinforcementType>
<Grade>HRB400</Grade>
{Shape />
<{Diameter>8</Diameter>
{CenterLine>
<{Point>
<X>T760</X>
<Y>1515</Y>
<I>35</7>
{/Point>
<Point>
<X>T60</X>
<Y>1795</Y>
<I>35</7>
{/Point>
</CenterLine>
<{Length>280</Length>
Weight>0. 111</Weight>
<{ExtendInfo />
<{/HangStiffener>
{HangStiffener HangStiffenerld="2">
{InstallationOrder>0</InstallationOrder>
<(ReinforcementType> f S N5&EH</ReinforcementType>
<{Grade>HRB400</Grade>
{Shape />
<{Diameter>8</Diameter>
{CenterLine>
<Point>
<X>560</X>
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<Y>1515</Y>
<Z>35</7>
{/Point>
<{Point>
<X>560</X>
<Y>1795</Y>
<Z>35</7>
<{/Point>
{/CenterLine>
<{Length>280</Length>
<{Weight>0. 111</Weight>
<ExtendInfo />
</HangStiffener>
{HangStiffener HangStiffenerld="3">
{InstallationOrder>0</InstallationOrder>
<(ReinforcementType> f i IN5ERFi</ReinforcementType>
<Grade>HRB400</Grade>
{Shape />
<{Diameter>8</Diameter>
{CenterLine>
<{Point>
<X>T760</X>
<Y>60</Y>
<I>35</7>
{/Point>
<Point>
OT760</X>
<Y>340</Y>
<Z>35</7>
{/Point>
</CenterLine>
<{Length>280</Length>
{Weight>0. 111</Weight>
<{ExtendInfo />
{/HangStiffener>
{HangStiffener HangStiffenerld="4">
{InstallationOrder>0</InstallationOrder>
{ReinforcementType> f B N5&R Hi</ReinforcementType>
<Grade>HRB400</Grade>
{Shape />
<{Diameter>8</Diameter>
{CenterLine>
<Point>
<X>560</X>
<Y>60</Y>
<I>35</7>
</Point>

36



<{Point>
<X>560</X>
<Y>340</Y>
<Z>35</7>
<{/Point>
</CenterLine>
<Length>280</Length>
<{Weight>0. 111</Weight>
<ExtendInfo />
<{/HangStiffener>
<{HangStiffener HangStiffenerld="5">
<InstallationOrder>0</InstallationOrder>
{ReinforcementType> i M N5RH</ReinforcementType>
<Grade>HRB400</Grade>
{Shape />
<Diameter>8</Diameter>
{CenterLine>
<Point>
<X>2560</X>
<Y>1515</Y>
<I>35</7>
{/Point>
<{Point>
<X>2560</X>
<Y>1795</Y>
<Z>35</7>
{/Point>
</CenterLine>
<{Length>280</Length>
{Weight>0. 111</Weight>
<ExtendInfo />
<{/HangStiffener>
{HangStiffener HangStiffenerld="6">
{InstallationOrder>0</InstallationOrder>
<(ReinforcementType> f i IN5EHi</ReinforcementType>
<Grade>HRB400</Grade>
<Shape />
<{Diameter>8</Diameter>
{CenterLine>
<Point>
<X>2360</X>
<Y>1515</Y>
<I>35</7>
<{/Point>
<Point>
<X>2360</X>
<Y>1795</Y>
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<I>35</7>
<{/Point>
</CenterLine>
<{Length>280</Length>
<{Weight>0. 111</Weight>
<ExtendInfo />
<{/HangStiffener>
{HangStiffener HangStiffenerld="7">
<InstallationOrder>0</InstallationOrder>
<{ReinforcementType> A A 5% </ReinforcementType>
<Grade>HRB400</Grade>
{Shape />
<{Diameter>8</Diameter>
{CenterLine>
<Point>
<X>2560</X>
<Y>60</Y>
<Z>35</7>
{/Point>
<{Point>
<X>2560</X>
<Y>340</Y>
<I>35</7>
{/Point>
</CenterLine>
<{Length>280</Length>
Weight>0. 111</Weight>
<ExtendInfo />
<{/HangStiffener>
{HangStiffener HangStiffenerld="8">
<InstallationOrder>0</InstallationOrder>
<(ReinforcementType> f i N5EHi</ReinforcementType>
<Grade>HRB400</Grade>
<Shape />
<Diameter>8</Diameter>
{CenterLine>
<Point>
<X>2360</X>
<Y>60</Y>
<I>35</7>
<{/Point>
<Point>
<X>2360</X>
<Y>340</Y>
<Z>35</7>
</Point>
</CenterLine>
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<Length>280</Length>
<Weight>0. 111</Weight>
<ExtendInfo />
</HangStiffener>
{/HangStiffener>
{Girder>
A= Mi2E3H W5 —>
{Girder GirderId="1">
= MIBE ZoRiFF —>
{InstallationOrder>0</InstallationOrder>
A— M EMER —
{GirderLocation>
{CenterPoint>
<X>1510</%>
<Y>1655</Y>
<Z>94</7>
</CenterPoint>
{StartPoint>
<X>10</%>
<Y>1655</Y>
<Z>94</7>
{/StartPoint>
<EndPoint>
<X>3010</X>
<Y>1655</Y>
<7>94</7>
</EndPoint>
</GirderLocation>
A= &R —>
<{Name>A75</Name>
A= by —>
<GirderType>30-03. 10. 10. 60</GirderType>
d—= KE —>
<Length>3000</Length>

A— W —>
<Width>80</Width>
A= = —>
<{Height>75<{/Height>
— HE —

Weight>5. 163</Weight>
A— FRMER —
<ExtendInfo />
</Girder>
{Girder GirderId="2">
{InstallationOrder>0</InstallationOrder>
{Location>
{CenterPoint>
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<X>1510</X>
<Y>1255</Y>
<72>94</7>
</CenterPoint>
{StartPoint>
<X>10</X>
<Y>1255</Y>
<I>94</7>
</StartPoint>
<EndPoint>
<X>3010</X>
<Y>1255</Y>
<I>94</7>
<{/EndPoint>
</Location>
<Name>A75</Name>
<GirderType>30-03. 10. 10. 60</GirderType>
<Length>3000</Length>
<Width>80</Width>
<{Height>75</Height>
{Weight>5. 163</Weight>
<ExtendInfo />
</Girder>
<Girder GirderId="3">
{InstallationOrder>0</InstallationOrder>
{Location>
{CenterPoint>
<X>1510</%>
<Y>200</Y>
<72>94</7>
{/CenterPoint>
{StartPoint>
O10</X>
<Y>200</Y>
<I>94</7>
<{/StartPoint>
<EndPoint>
<X>3010</%>
<Y>200</Y>
<I>94</7>
</EndPoint>
</Location>
<Name>A75</Name>
{GirderType>30-03. 10. 10. 60</GirderType>
<Length>3000</Length>
<Width>80</Width>
<{Height>75</Height>
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<{Weight>5. 163</Weight>
<ExtendInfo />
</Girder>
{Girder GirderId="4">
<InstallationOrder>0</InstallationOrder>
{Location>
<{CenterPoint>
<X>1510</X>
<Y>655</Y>
<72>94<K/7>
{/CenterPoint>
{StartPoint>
O10</X>
<Y>655</Y>
<72>94</7>
</StartPoint>
<{EndPoint>
<X>3010</X>
<Y>655</Y>
<2>94</7>
</EndPoint>
</Location>
<Name>A75</Name>
<GirderType>30-03. 10. 10. 60</GirderType>
<Length>3000</Length>
<Width>80</Width>
<{Height>75</Height>
Weight>5. 163</Weight>
<{ExtendInfo />
</Girder>
<{/Girder>
<{ExtendInfo />
{/Steel>
{ExtendInfo />
</Slab>
<ExtendInfo />
</ProductInfo>
<ExtendInfo />
</OrderInfo>
<ExtendInfo />
{/Project>
{/ArrayOfProject>
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